fmmm AT B S AN EX

BE: P1, B W15P, {Zi&: P002-1 [D:331,4:404] , & (467.5+1496.5)=1964.00 cm, #&&:150 cm
#3 EEF(FE148)
BEEREEX)G AT L RIS 1B E]150+[#512]54*1+[HE B+ E85]15+13.7= 232.71
EEHER(E148)= 232.71* % #]98/100= 228.06 M
#3 KEAR(ZE14E)
ggﬁrﬁ(ﬁip §1 964+[#41£]Int(1964/(8*100))*54+[ 1 B(-Ld]1* [ [E]]2*37+[ 58 R #TZ fE A B(-Ld]37*1= 2,183.00
= 8/100=8
K P AR (5B 148)= 2,183.00* [ #]8/100= 174.64 M
#3 EEH(5E248)
EEREEX)E AR L RIS B E]150+[F412])54* 1 +[ZE B+ 8#0]15+13.7= 232.71
&= 98/100= 98
EEHER(SE248)= 232.71*[ % #]:98/100= 228.06 M
#3 K AR(5E248)
ggﬁrﬁ‘(ﬁip §1 964+[#41£]Int(1964/(8*100))*54+[ 17 B(-Ld]1* [ []]2*37+[ 58 R #TZ fE A B(-Ld]37*1= 2,183.00
= 8/100=8
Ik P AR R (55248 )= 2,183.00* [ #]8/100= 174.64 M
#4 TYERH:
K FEHEE: Int(1964.00/150)= 13
EEJEE: Int(150.00/150)= 1
TERBE:((15-3*2)+10*2)" K FHEBM 3 [EE HEE]1= 3.77
AR &
REE:1
iy NER1:RE B & R E=(L)467.50%(H)150%2/10000=14.03 M2
R:2
NER1:RE B & R #E=(L)1496.50%(H)150%2/10000=44.90 M2
LA E B EER ARG 58.92 M3
A& /N 5T:15%150%1/10000=0.23 M2
1B 32 452 ek T 48 AR A1 Bk
RIEE-1 (IR FisiEFID-XX,E-0:)150*25/10000=0.38 M2
RHEME-2 ; (A E E BB HFID-XX,E-0:)150%25/10000=0.38 M2
REME-3 : (REE LB LID-XX, E-0:)150%15/10000=0.23 M2
Ak B RIA s H1BR /N ET: 0.98 M2
AR/ 59.15-[F9 8 #1]0.00-[ B H1 B O #1]0.00+[F9 & £4810.00+[ B 1 B 0 E48]0.00-[fA E X #$1]0.98=58.17 M2

KE&:A
iy NER1:BE B L R HE=(L)467.50%(H)150%(t)15/1000000=1.052 M3
52
NER1:B B T R HE=(L)1496.50%(H)150%(t)15/1000000=3.367 M3
LA EBEEERC/ME: 4.419 M3
RC/MEt: 4.419-[F9% B ORC]0.000-[ B H1 B O RC]0.000= 4.419 M3
-------------- HIC Ny E—
SR /N ET(HCBE O LL Bl H1BR ) (& B8 O Lk451:0.0000)
#3=805.40 M*(1-0.0000)=805.40 M (805.40 M*0.560/1000= 0.4510 T)
#4=3.77 M*(1-0.0000)=3.77 M (3.77 M*0.994/1000= 0.0037 T)
A DN EEH+ERET) = 04548 T
1ERR/NET = 58.17 M2
BT/ ET=4.419M3
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